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Determine if the graphis proportional. Explain.
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State the constant of proportionality.

Zxplain.
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-"fl-) What doesthe point (3,2) represent?
What is the constant of propoitionality?
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Q) wWhat doesthe point (2,0.5) represent?
wWhat is the constant of proportionality?
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Does the table show a proportional relationship? Explain.
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Determine constant of proportionality.
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[5') The groph below shows the relorionship between the number of gallons of ethanol-based
E' goasoline ond the number of golions of regular gosoline sold ot a gos station. Whaot does

(30,3 on vhe groph represent? How can you vse rhis to determine the consrans of
peroportionolity?
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Droppob fional D elaticinsiipns withy Graplns

IQ Jess says thoat two of the three points below are on o line rhrough the origin.
(3,8) (6,28) (v, 2)

Which rwo points could lie on the some line through the origin® Exploin why.

Explain why the third point coutd nor
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1%) Use the graph on the right. Motorcycle’s

Fuel Economy

a)  Explain how you knowr that this graph 450 P

shows a proportional relationship. R /
h)  Whatdoes the point {5,350) represent g & e

on the graph? 3k yd

{E?" = 210 ///
. , = 144 y

¢} Which point on the graph shows the 0 1

unitrate for this situation, and whatis /
the unit rate?

Gasoline Used
(in galions)

oo tional [oelationships with Graphs

| 19) The graph of a proportional relationship passes through the
> points(2,22) and (4,44). Explain how you know the r-value
for the point (1,r).
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Date:

Naime:
“Proportional Relationships with Graphs

Determine whetherthe graph shows a proportional relationship. Explain,

(9) A 20) )

TESTPRACTICE

Determine the constant of prapartionality for
each graph, Justify.

)

Choose the bestanswer. Show your work.
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%) The point (1.5,0.15) is on the graph below.
What doesthat point represent?

Cell Phongoverseas Calls

2 s

{in §)

Total Cost

4
Length of Call
{in minutes)

a) A call that last 0.15 minuteswill cost 51.50,
b) A call that lasts 1.5 minuteswill cost 50.15,
¢} The unit rate is $0.15 perminute,
d)The unitrate is 54,50 perminute,
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